RERERLE-I

1.6.8.9.10.13. 15. 16. 17

MOPEEO IR
(R6.9.12 ~ R6.9.16)
~ L EADTEMBYHE S ZENE LT~

¥ EmICREENAEBICREIRAHEERXYLET,

JEAT K 4 OUuT| IN [~ = =] HDCP | % v b H W JIEAT. K 4 OUT| IN |7 &= A| HDCP | v b B & AT K 4 OUT| IN [# = =| HDCP | % v b H A

| IR | 44| 50| 94 | 24.0] 70.0| FKEME=ZI LAY 30ke 36 hr| kEA @k | 47| 48] 95 | 20.8| 74.2 71 fr| A A | 55| 51| 106 | 30.4| 75.6

WER kM Pt | 46| 50 96 | 25.6] 70.4| EHKEME=ZT v HY 2 Oke 37 L] M E% | 44| 43] 87| 12.8| 74.2| HAEMPE=T AV  Ske 72 fir| ek Bofn | 42| 48] 90 | 14.4| 75.6

3N | KJI wE | 38 39| 77| 6.4 70.6] FHKEME=TEHY 1 0ke 38 fir| /&A& {8HE | 56 55| 111 | 36.8] 74.2 73 fir| EH#E Aoz | 47| 43| 90| 14.4| 75.6| FHAEME=TvHYU  5ke
4 fir | A % | 44| 43| 87| 16.0| 71.0| FkEME=EHY Ske 39 frfex AR FwA| 38| 41 79| 4.8] 74.2 4 hrl BOh 43 47 90 | 14.4| 75.6

5 0 | KJI wE | 37 42| 79| 8.0 71.0| FAKEMME= v HY bSke 40 fr| /R ] | 45] 58| 103 | 28.8| 74.2| WAEME= v HY Ske 75 fr| YRYT  IEA | 45| 42| 87 | 11.2| 75.8| HAKEME=aTvHYU  5Ske
6 iz | /b TE=E | 39 37| 76| 4.8] 71.2| #kEMME=TvHhHYU S5Ske 41 fr] fJ B | 45] 50 95 | 20.8 74.2 76 fir| &I AES | 40| 47| 87 | 11.2| 75.8| HAEMEaT v HYU  5Ske
7TAL | &ze Wl | 42| 47| 89| 17.6 T1.4| FrkEME=TeHY 5k 42 fr| um HBA | 39] 401 79| 4.8] 74.2 77 fr| WE v | 45| 42| 87| 11.2| 75.8

8 fir | mke BAT | 40 41| 81| 9.6| 7.4 FkEMEaTvHY Ske 43 fr| =)0 #2247 | 50| 50 100 | 25.6] 74.4| WK EMFE=T v HY Ske 78 fr| B A | 45 42| 87| 11.2| 75.8

9 fir | A VEES | 44| 45| 89 | 17.6| 71.4| FikEME=vHY 5ke 44 Prf/veri REEZ| 43| 41 84 | 9.6] 7T4.4 79 | B S | 42| 45| 87 | 11.2| 75.8] FikEME=IEHY S5Ske
10 fz| pe8 2 | 42| 44| 86| 14.4| 71.6| FKEME=Z LAY Ske 45 fr| B —#k | 48| 49| 97 | 22.4| 74.6| FKEMEZT LAY Ske 80 fr| B Figs | 43| 44| 87| 11.2| 75.8| FKEME=ZT AU  Ske
11 7| #k deg | 41| 37| 78| 6.4| 71.6 46 fir| &M (&S | 41| 48] 89 | 14.4| 74.6| FHHKEME=2 e HY  5Ske 81 fir| ZEmE 201 | 48] 52| 100 | 24.0[ 76.0

12 fz| /K B | 48| 54| 102 | 30.4| 71.6 47 pr| — W ¥ | 42| 47 89 | 14.4] 74.6 82 fr| i J1 | 40| 44| 84| 8.0 76.0| FHKEME=Z LAY Ske
13 fir| (hmE mEE | 47| 52| 99 | 27.2| 71.8| HWikEME=2T v HY  5Ske 48 fr| Fe3% 1% | 38| 40| 78| 3.2| 74.8 83 fr| /MK D3R | 51| 49| 100 | 24.0[ 76.0

14 fr| +H EW®R | 39| 41| 80| 8.0 72.0 49 fir| ) fp— | 39| 39| 78| 3.2| 74.8| FHKEMEa2TeHY 5Ske 84 fir| 7TME ¢ | 39 45| 84| 8.0[ 76.0

15 2| PEAF =E75 | 44| 44| 88| 16.0| 72.0] FKEMME= v HY bSke 50 fir| Bk BFEfE | 42| 36| 78| 3.2| 74.8| HAEME=ZvHYU  5Ske 85 ] =[E Ha | 42| 42| 84| 8.0 76.0| FAEME=HY 5k
16 fr| Ky s | 44| 41| 85| 12.8] 72.2| FHKEME= v HY  5Ske 51 fz| & HEfE | 48| 51| 99 | 24.0[ 75.0 86 {ir| Jyl HEfE | 50| 50| 100 | 24.0| 76.0

17 pr| Bm A | 39] 38| 77| 4.8] 72.2 52 fr| AJ: AER | 47| 44| 91| 16.0| 75.0| FAKEME=EHY  5Ske 87 {ir| A Fn=: | 38| 46| 84| 8.0| 76.0

18 A7 A3t i | 47| 46| 93 | 20.8] 72.2 53 fr| Fuill JEE | 39| 44 83| 8.0l 75.0 88 fr| Ei =k | 49 43| 92| 16.0[ 76.0| #AKEME=T v HY Ske
19 fir| /K #ae | 40| 391 79| 6.4 72.6| HKEME=ZT v HY Ske 54 7| HAT Se— | 49| 55| 104 | 28.8] 75.2 89 fir| &% 1EFn | 54| 46| 100 | 24.0[ 76.0

20 fir| %% PSS | 49| 51| 100 | 27.2| 72.8| FHAKEME=vHY Sk 55 fir| AN WE | 47| 49 96 | 20.8| 75.2| HAEME=ZTvHYU  5Ske 90 x| ) A% | 49] 51 100 | 24.01 76.0| FAEME=Z v HY 5Ske
21 fir| g A— | 41| 48| 89| 16.0| 73.0 56 hr| KEO B | 41| 47| 88| 12.8] 75.2 91 fr| MM 1= | 46| 51| 97| 20.8] 76.2| FKEME=ZTEHY Ske
22 | H b ¥E— | 43| 43| 86 | 12.8] 73.2| ¥ikEME=TtHY Ske 57 fr| Ei IEdh | 44| 44| 88| 12.8] 75.2 92 fr| #F IEBRF | 39| 42| 81| 4.8] 76.2

23 fr| FEAF 3= | 44| 42] 86 | 12.8] 73.2 58 fir| W wF | 49| 55| 104 | 28.8| 75.2| HAKEME=I v HYU Ske 93 7| IR IEEE | 44| 45| 89 | 12.8[ 76.2

24 fr| KH 5L | 39| 44| 83| 9.6 73.4 59 fr| MW —K | 45| 51| 96 | 20.8] 75.2 94 fir| WK FIe | 45| 52| 97| 20.8[ 76.2| W KEME=IEHY Ske
25 fir| JE HE | 48| 56| 104 | 30.4| 73.6| FAEME=vHY Ske 60 fiz| BF L @ | 46 42| 88| 12.8| 75.2| HAKEME=T v HVU Ske 95 7| A BB | 48| 41| 89| 12.8| 76.2| HKEME=2T e HY  5Ske
26 fr| Fargs  —ng | 43| 45| 88 | 14.4| 73.6 61 fr| o Mt | 52| 52| 104 | 28.8| 75.2| ¥iAkEME=ZI v HY  Ske 96 fr| il %% | 46] 43| 89| 12.8| 76.2

27 fr] AR HEA | 43| 45| 88| 14.4| 73.6 62 fir| #EH HERE§ | 60| 52| 112 | 36.8] 75.2 97 | JIE #hkE | 48] 57| 105 | 28.8 76.2| @AKEME=Z v Y 5Ske
28 fir| S samE | 49| 52| 101 | 27.2| 73.8| FAERE=ZvHY Ske 63 fir| B FI | 48] 45| 93| 17.6| 75.4 98 fr| BHEp ¥kw | 47| 47| 94 | 17.6| 76.4

29 fr| YE &% | 41| 44| 85| 11.2[ 73.8 64 7| AR =2 | 40| 37| 77| 1.6| 75.4| BAKEME=I v HY Ske 99 {r| ®F % | 43| 51| 94 | 17.6] 76.4

30 fr| FJR ATHE | 41| 411 82| 8.0| 74.0| FAERMEaT v H YU 5ke 65 fr| oA Ak | 39 38| 77| 1.6| 75.4| WHHKEME=ZIEvHYU 5ke 100 fiz| /vt Bz | 52| 50| 102 | 25.6] 76.4 FAKEMEaT v H Y 5ke
31 | g —2= | 51| 47| 98| 24.0 74.0| FHAEME=TvHY Ske 66 | & B | 42] 431 85| 9.6] 75.4 101 7] A 8 | 45| 54 99 | 22.4 76.6

32 fir| LW ¥ | 40f 50 90 | 16.0 74.0 67 fir| bW A& | 51| 47| 98 | 22.4| 75.6| #AEMEaT v HY 5ke 102 fiz| A FEZE | 46| 45 91| 14.4| 76.6

33 0] JIIE —& | 43| 47 90| 16.0[ 74.0 68 fir| AT HE | 48] 50| 98 | 22.4| 75.6 103 f7| EEE FE | 50| 491 99 | 22.4] 76.6| FAEME=ZI L HY Ske
34 fir| mH St | 43] 47| 90| 16.0] 74.0| FHAERME= L HY Ske 69 fir| VMl & | 37 37| 74| +1.6| 75.6 104 fir] i mE | 49| 55( 104 | 27.2 76.8

35 fAr| AHr #72 | 42| 48] 90 | 16.0| 74.0| HAEME=IEHYU Ske 70 f7| B EBAT | 38| 36| 74| +1.6| 75.6| HAEMPE=I AV  Ske 105 7| (U EF | 39| 41| 80| 3.2| 76.8] #HAEME=IEHY Ske




JIEfE K4 OUT| IN |7 & 2| HDCP | % v b H & JIE {37, K4 OUT| IN|Zw=x [ HDCP | % v b BHOd JIE A7 K4 OUT| IN [#wx | HDCP | % v b B &

106 iz F#E Fepe | 44 44] 88| 11.2| 76.8| #kEME=T e HY 5ke 141 fr| 5H HEZ | 48[ 48] 96 | 17.6| 78.4 176 fiz| JmiE 1E | 41| 45] 86| 6.4 79.6

107 | A5W  Fosk | 46 42| 88| 11.2| 76.8 142 fir] K& Fodh | 40| 48] 88| 9.6 78.4| HWAXEME=IvHY Ske 177 | & SEEH | 40 46] 86| 6.4 79.6

108 {ir| (Ll B | 54| 58| 112 | 35.2| 76.8 143 fz| +m 1E¥R | 47| 46| 93 | 14.4] 78.6 178 fir| FEX| 7% | 49| 45| 94 | 14.4| 79.6| FkEME=EHY 5ke
109 fir| fE®Ey  Fvk | 42| 46] 88 | 11.2| 76.8] HAKEME=vHY Ske 144 fir] & %k | 51| 50| 101 | 22.4| 78.6 179 7| W B | 50 44] 94 | 14.4] 79.6

110 fz| #l Mz | 42| 46] 88 | 11.2| 76.8| #HkEMpE=T v HY 5ke 145 fz| W & | 45 48| 93 | 14.4| 78.6| FAKEMEaTEHY Ske 180 fir| =FEE @k | 46| 56| 102 | 22.4| 79.6| HAEMPEZT AV  Ske
11 47| B B3 | 44| 44] 88| 11.2[ 76.8 146 fir|fEx A  —#E| 43 42| 85| 6.4 78.6 181 fir| g Eedw | 49 50| 99 | 19.2| 79.8| WK EME=ZT v HY 5ke
112 fz| EH BEfE | 36 41| 77| 0.0 77.0| WHHKEME=T e HY 5ke 147 | Ll g | 42 511 93 | 14.4] 78.6 182 fir| TR B | 45 46| 91 | 11.2] 79.8

113 fr| A2y SL— | 41] 41| 82| 4.8 77.2 148 fir| F¥ Fnz | 49| 49| 98 | 19.2 78.8| FAKEME=TeHY 5ke 183 fir| /hz FHI | 45| 46 91 | 11.2[ 79.8

114 fir| FH £ | 44| 46| 90 | 12.8] 77.2 149 fiz| AV et | 57| 49| 106 | 27.2 78.8 184 fir| BB FndE | 50| 57| 107 | 27.2| 79.8| FkEME=HY Ske
115 fir| =W iz | 49 57| 106 | 28.8| 77.2| @Ak EME= v HY 5ke 150 iz W 1A | 45 53| 98 | 19.2 78.8| FrkEME=ZTeHY 5Ske 185 fr| #nAK i | 47| 44| 91 | 11.2] 79.8| FAKEME=aT v HY 5ke
116 fir] HE zh | 45 45| 90 | 12.8] 77.2 151 fiz] /& % | 46| 52| 98| 19.2| 78.8| #WXEME= v HY 5Ske 186 fir| A&A  fihth | 53| 54| 107 | 27.2| 79.8

117 fz| ks B | 56| 47| 103 | 25.6] 77.4 152 fz| B &+ | 46) 44| 90 | 11.2] 78.8 187 fiz| R q& | 44| 47| 91| 11.2| 79.8] WmKEME=ZT e HYU  Ske
118 fir| =Bk el 39 40| 79| 1.6| 77.4| HHXEME=ZI v HY Ske 153 (e RSe[| 43 52 95| 16.0[ 79.0 188 fir| #5AK B | 44| 47] 91| 11.2] 79.8

119 fir| JE8 He | 40 47| 87| 9.6| 77.4 154 | M fE 49| 54| 103 | 24.0| 79.0| HAkEMPEaT v h Y  5ke 189 fir| A #C | 47 49| 96 | 16.0[ 80.0

120 fir] B (= | 41| 46| 87| 9.6 77.4| HAKEME=I v HY Ske 1655 fir] =B 8L | 48] 47| 95| 16.0| 79.0| WAXEME=vHY 5Ske 190 7| Ll #m— | 52| 44| 96 | 16.0] 80.0| FXEME=IHY Ske
121 fir] B b % | 45| 47| 92 | 14.4| 77.6| HXEME=I v HY Ske 156 fir| fR&F  Foge | 48 47| 95| 16.0[ 79.0 191 7| feH HE— | 49 47] 96 | 16.0[ 80.0

122 fr| Ll FB | 46| 46 92 | 14.4 77.6 157 | /il f&— | 45| 50| 95| 16.0| 79.0| FikEME= v HY  S5Ske 192 fir| #adE & | 61| 59| 120 | 40.0[ 80.0

123 fr| {EEE ¥R | 48[ 60| 108 | 30.4| 77.6 158 7| #@A ¥— | 47 40| 87| 8.0[ 79.0 193 fir| RH  —i& | 45| 48] 93| 12.8| 80.2| WAEMPE=ZT v HY 5ke
124 fir| FpE B | 44| 56| 100 | 22.4| 77.6| HAXEME=ZI v HY Ske 1659 fir] K 247 | 43| 49| 92 | 12.8] 79.2 194 7| /i 1ESE | 43[ 42| 85| 4.8 80.2

125 fz| 5H B | 47 501 97 | 19.2| 77.8| #AEMEaT v h U 5ke 160 fiz| tFF FlZ | 48[ 52| 100 | 20.8| 79.2| HrkEME=T AU S5ke 195 fr| a0 G | 48[ 53| 101 | 20.8] 80.2| FKEME=TrHY 5ke
126 fr| K¥& S | 53| 52| 105 | 27.2 77.8 161 fir| M B | 47| 45| 92 | 12.8] 79.2 196 fir| /NI IEHE | 47] 43| 90| 9.6 80.4| FikEME=ItHY S5ke
127 fir| e FE | 42| 39| 81| 3.2| 77.8| #ikEME=ItHY S5ke 162 fir| /NE Fnft | 48] 52| 100 | 20.8[ 79.2 197 fr| P J%— | 50| 56| 106 | 25.6| 80.4

128 fir| Kk TEk | 45 44| 89 | 11.2| 77.8 163 fiz| find:  =fH | 56 60| 116 | 36.8| 79.2| #AkEME= e HY 5ke 198 7| g | 51| 55| 106 | 25.6| 80.4

129 fir| B9 i 43| 46 89 | 11.2| 77.8 164 fr| @A K| 46| 46 92 | 12.8[ 79.2 199 fr| (L FE | 46 57| 103 | 22.4| 80.6| PikEME=tHY 5ke
130 fir| B BE | 49| 45| 94 | 16.0| 78.0| HikEME=TEHY S5ke 165 fir| P PE— | 48] 52| 100 | 20.8[ 79.2| WikEME=TbHYU 5ke 200 fir| Al BE— | 46| 57| 103 | 22.4| 80.6| HFKEME=ZL LAY Ske
131 7] EE 2 | 49| 53| 102 | 24.0[ 78.0 166 fr| Aff #8— | 42| 47| 89| 9.6] 79.4| FHAKEME=2TvHYU 5ke 201 fir| ®AAS 4 | 45| 42| 87| 6.4| 80.6

132 fr| g &3 | 44| 421 86| 8.0 78.0 167 fr| HF #— | 39 421 81| 1.6 79.4 202 fir| & E— | 48| 47| 95| 14.4] 80.6] FKEME=TEHY Ske
133 fAZ|EWEHH  FEsie| 49| 45| 94 | 16.0] 78.0| FHAKEME=vHY 5Ske 168 fr| M FHAE | 43| 381 81| 1.6 79.4 203 fir| ¥R, &k | 58] 50| 108 | 27.2| 80.8

134 {iz| 3518 ffi— | 43| 51| 94| 16.0| 78.0 169 fiz| HE ==+ | 46| 43| 89| 9.6| 79.4| #HAEMpE=2I v HY 5k 204 7| FH bk & | 45| 55| 100 | 19.2[ 80.8

135 fz| I —H | 45 46| 91 | 12.8] 78.2| FAEMMEaT v H Y S5Ske 170 fiz| [Ar 2z | 52| 53] 105 | 25.6| 79.4| FAkEME= AU 5Ske 205 fir| #EC EEZ | 49 51| 100 | 19.2 80.8| FKEME=TvHY 5Ske
136 Az WL IEAT | 45| 46| 91 | 12.8] 78.2| FAKEME=T v HYU 5ke 171 7| &8 #A | 55 50| 105 | 25.6| 79.4 206 fir| KA H:I< | 60| 56| 116 | 35.2[ 80.8

137 fz|  aml L | 48[ 51| 99 | 20.8] 78.2 172 fiz| g 4~ | 49| 53] 102 | 22.4| 79.6| FAkEME=T e AU S5Ske 207 fir| A& W | 43| 491 92| 11.2| 80.8

138 PR #eAfs| 40 43| 83 | 4.8] 78.2 173 fr| )l we—| 46[ 48] 94 | 14.4] 79.6 208 {ir|VEd JNZ&s 1| 55| 61| 116 | 35.2 80.8| #FHAEMPE=Z v HY Ske
139 fz| /N JELE | 45 46| 91 | 12.8| 78.2| #AEMMEaT v h Y 5Ske 174 | A EH | 50 52| 102 | 22.4] 79.6 209 {ir| AEH Flth | 56] 60| 116 | 35.2 80.8

140 fiz| /k 27 | 46| 42| 88| 9.6 78.4| HKEMPEE=ZT ALY  Ske 175 iz mi =% | 46| 48| 94 | 14.4 79.6| FAKEME=TEHY Ske 210 fZ|¥ER T 50| 55 105 | 24.0] 81.0| #HkEMME= v H Y 5Ske




[t K4 OUT| IN|Z®== | HDCP | » K O JELE K4 OUT| IN |7 = 2| HDCP | & K E [1=tiva K4 OUT| IN [Z = 2| HDCP | > B

211 fr| Akt 47 50| 97 | 16.0| 81.0f HKERMpE= LAY  5Ske 246 fr| = 56 54| 110 | 27.2| 82.8 281 fr| = et 57| 51| 108 | 22.4 85.6

212 pr| KB 471 50 97 | 16.0[ 81.0 247 fr| L b4 56( 110 | 27.2| 82.8| HAkEMME= s YU 5ke 282 fir| sE¥ {57 | 59| 54| 113 | 27.2| 85.8

213 fz| B1l 45| 44| 89| 8.0| 81.0 248 fir| 1L 53| 46 99 | 16.0] 83.0 283 fir| 1EE  —2= | 49| 56| 105 | 19.2| 85.8| FKEME=L LAY S5Ske
214 fr| EIE AT AT 94 | 12.8 8L.2[ FrkRME= bH YU  Ske 249 fr| AR 50( 49] 99 | 16.0[ 83.0 284 fiz| AN ®E | 56| 57| 113 | 27.2| 85.8

215 fir| & SIf 51f 102 | 20.8| 81.2| FKERMpE=aHY 5ke 250 fiz| BB 52| 52| 104 | 20.8| 83.2| FrkEMpE=ZT Y 5Ske 285 fir| B 3k— | 59| 59| 118 | 32.0| 86.0| HMKEME=THY 5Ske
216 fir| Akt 45 49 94 | 12.8 81.2 251 fir| EhiE 45 51 96 | 12.8] 83.2 286 fir| EAT % | 56| 54| 110 | 24.0| 86.0| FHKEME=Z LAY Ske
217 fir| Z5iE 45| 41| 86 | 4.8| 8lL.2| #HAKEME= T AU 5Ske 252 fir| M 50| 54| 104 | 20.8] 83.2 287 fir| TFJR % | 50| 49 99 | 12.8| 86.2

218 fir| R 46| 48| 94 | 12.8] 81.2 253 {ir| THETSE 51| 45| 96 [ 12.8] 83.2| FrkEME=aT v hY 5Ske 288 =)l #k—HR| 59| 64| 123 | 36.8] 86.2

219 hr| K 40 46 86| 4.8 81.2 254 fir| ik 55| 54| 109 | 25.6] 83.4 289 fir| BN E#f | 51| 56| 107 | 20.8| 86.2| FKEME=Z LAY Ske
220 | ERIRF 57| 53| 110 | 28.8| 81.2| HKEME=H U 5Ske 255 fir| LB 53| 56( 109 | 25.6| 83.4| HKEME= B Y 5Ske 290 fir| K F=— | 47| 49| 96| 9.6| 86.4| HHKEMME=vHYU 5ke
221 {ir| D 49| 501 99 | 17.6] 81.4 256 fir| 22 A | 53| 48| 101 | 17.6] 83.4| HKEMEa v HY  Ske 201 fr| #EEE  £7 | 56| 56| 112 | 25.6] 86.4

222 fr| HFT 48] 43 91| 9.6 81.4 257 fir| N | 48| 53| 101 | 17.6] 83.4 292 fir| HEHE W5 | 47| 43 90| 3.2| 86.8| HKEMEZT AU Ske
223 2| It 59| 48| 107 | 25.6| 81.4| HkEME=T v HY Ske 258 | & H F5iE | 52| 54| 106 | 22.4] 83.6 293 fir| A ==K | 56| 58| 114 | 27.2| 86.8

224 fr| FRE 51| 48] 99| 17.6| 81.4 259 fir| /N se— | 53| 61| 114 | 30.4| 83.6| HKEMME= v HY S5Ske 204 fr| Hm o ¥ | 49] 57| 106 | 19.2| 86.8

225 fr| AEH: 47) 49| 96 | 14.4| 81.6| FWHKEME=2T v HY 5ke 260 fiz| Wi &HE= | 56| 66| 122 | 38.4| 83.6| FHAKEME=T v AHY 5ke 295 fir| #4H AL | 62| 60| 122 | 35.2| 86.8| #HKEME=T AU 5ke
226 fir| /IvBK 51| 61| 112 | 30.4| 81.6| #kEME=2HY 5ke 261 fiz| HAT ES | 57| 62| 119 | 35.2| 83.8 296 fr| WL TEAS | 46] 491 95| 8.0| 87.0

227 fir| =W 50| 54| 104 | 22.4| 81.6 262 fir| B3 W | 60| 59| 119 | 35.2| 83.8| HKEMME=EHY 5Ske 297 fr| ‘BIE & | 52| 51| 103 | 16.0| 87.0

228 fir| HH 46| 50 96 | 14.4| 81.6 263 fir| BFIRF EF | 57| 54| 111 | 27.2| 83.8 298 fr| A 4= | 59| 57| 116 | 28.8| 87.2| HKEMME=I v H YU S5Ske
229 {7 MR 53| 51| 104 | 22.4| 81.6] FHKEMpEa v HY 5Ske 264 fir| fEA] EA | 61| 58] 119 | 35.2| 83.8 299 fir| FarER w | 55| 58] 113 | 25.6| 87.4

230 fir| LA 50 48] 98| 16.0[ 82.0| HrkEMpE= e HY  5Ske 265 fir| ‘HIE B 56| 55( 111 | 27.2| 83.8| HrkEME=eH Y  5Ske 300 fif| M B | 62| 56 118 | 30.4| 87.6| ¥ KEME=vHU 5ke
231 fr| +HE 65| 57| 122 | 40.0| 82.0 266 fir| 2k 48| 55| 103 | 19.2| 83.8 301 fir| Z5E 5w | 64| 56| 120 | 32.0| 88.0| FKEME= v HY S5Ske
232 fir| P 49 49 98 | 16.0[ 82.0[ HrkEMpE= Y 5Ske 267 fir| famH 46 49| 95 | 11.2| 83.8 302 | FomE fk | 52| 54| 106 | 17.6[ 88.4

233 fr| A+ 1 41 57| 98 | 16.0[ 82.0 268 fr| Frik b4 59 113 | 28.8| 84.2[ HAkEMME=H YU 5ke 303 fir|4% T | 54| 60| 114 | 25.6] 88.4

234 {7| VAT 43[ 471 90| 8.0| 82.0 269 fir| JEHE 54 56| 110 | 25.6| 84.4 304 A /L & 61] 58] 119 | 30.4| 88.6| HrkEME=T v HY 5ke
235 fr| B 49( 54| 103 | 20.8 82.2[ HAKEME=H YU 5Ske 270 | ZA 59( 59 118 | 33.6| 84.4| HkEME= B Y  5ke 305 {ir|SLIRF  Hr—RR| 49] 62| 111 | 22.4| 88.6| #FHAEMPE= v HY 5ke
236 fir| AAT 53| 50| 103 | 20.8| 82.2 271 fir| &t 59 64| 123 | 38.4| 84.6| FrkEMpE=a AU 5Ske 306 fir| /M B— | 61| 58| 119 | 30.4| 88.6

237 fr| FRE 46 57| 103 | 20.8| 82.2 272 fr| KH 53[ 46] 99 | 14.4| 84.6 307 fir| M F& | 55| 56| 111 | 22.4| 88.6] #HAEMEE= v HY 5ke
238 fir| = 46| 54| 100 | 17.6| 82.4 HKEREMpE= Y 5k 273 fir|  HiR 47| 52| 99 | 14.4| 84.6 308 fir| AaR  f | 60| 56| 116 | 27.2| 88.8

239 fir| Ve 54| 46| 100 | 17.6| 82.4 274 fir|  FEA 49 50 99 | 14.4| 84.6| HKEMME= B Y 5Ske 309 fir| AiJIl MEF | 54| 59| 113 [ 24.0] 89.0

240 fr| SCHT 43| 46 89 | 6.4 82.6 W KkRRE=tHYU 5Ske 275 fir| yhE 51| 53| 104 | 19.2| 84.8| FrkEMpE=2T v Y 5Ske 310 fir| FEE WE(T | 59| 54| 113 | 24.0] 89.0| HMKEME=T v HY 5Ske
241 fir| =45 49| 48| 97 | 14.4| 82.6| HFAKEME= T LAY Ske 276 fir| Bl 51| 53| 104 | 19.2| 84.8 311 fr| Fuill 23 | 60| 69| 129 | 40.0| 89.0

242 fir| ek 54| 59| 113 | 30.4| 82.6 277 fr| FAH 48[ 53| 101 | 16.0| 85.0 HFrkEME=a AU 5Ske 312 fir| KB 815 | 62| 67| 129 | 40.0[ 89.0

243 fr| _bAF 50| 47| 97 | 14.4] 82.6 278 fr| 71 ¥ | 59| 63| 122 | 36.8| 85.2 313 fir| A iz | 58| 52| 110 | 20.8| 89.2| HFKEME=Z LAY Ske
244 | — / ¥ 501 52| 102 [ 19.2 82.8| #HAkEME=T v AY 5Ske 279 | &fE ==HI | 50| 56| 106 | 20.8| 85.2 314 fr|Anil EAF| 60| 57| 117 | 27.2| 89.8

245 fir| £ 2 | 56| 54| 110 | 27.2| 82.8| HAKEMME=I s U Ske 280 fr| B wEFE | 59| 63| 122 | 36.8| 85.2| HKEMME=T s  5Ske 315 fir| 4 #mEE | 63| 67| 130 | 40.0] 90.0| HKEMME=I s Sk




JIEAE K4 out| IN|[Z = x| HDCP | % » + B &

316 ir| F¥r FIB | 60| 64| 124 | 33.6] 90.4| FHKEMPE=Z v HY B5ke
317 fr| Fuilr Z0FE | 63| 58] 121 [ 30.4f 90.6

318 {i7| faf] {d# | 54 43| 97| 6.4 90.6

319 fr|/NBFi5  [H2E| 65| 66| 131 | 40.0] 91.0| ¥KEME=vH Y 5ke
320 fir| BB EEZ | 70| 61| 131 | 40.0| 91.0| HFrkEME=TvHY 5ke
321 fr| (L@ Wl | 58] 72| 130 | 38.4 91.6

322 fr| PN AB | 66] 60| 126 | 33.6| 92.4| FHHKEME= v HY  Ske
323 fir| B #E | 55| 55| 110 [ 17.6] 92.4

324 fir| H¥ # | 52| 63| 115 | 22.4| 92.6

325 fir| =4% Zsdht| 56| 64| 120 | 27.2| 92.8| HKEME=ZI LAY  Ske
326 fir| I TEW] | 65| 59| 124 | 30.4| 93.6

327 fir| AaAS ek | 49| 69| 118 | 24.0[ 94.0

328 fir| HHI FHEE | 70| 63| 133 | 36.8| 96.2| FrKkEME=T v HY Ske
329 fr| BHp | 67| 70| 137 | 40.0| 97.0

330 M| ")l —F| 68| 71| 139 | 40.0] 99.0| FKEME=vH Y  5Ske
B B| teig ik | 74| 65| 139 [ 38.4| 100.6| #KEME=Z LAY 1 0ke
B M| B%& e | 71| 71| 142 | 40.0| 102.0] HFHKEME=H Y Ske
NR | HF #0

NR | ¥ =i




